S11 (mod 7)
blocks | defect matrix blocks | defect matrix
G: 1 1 7x6 18 0 9242 = X23,1, ¥23,1
2 1 7X6 19 0 11551 = X27,0, ¥24,0
3 1 7x6 20 0 11552 = X27,1,¥24,1
4 1 7x6 21 0 12321 = X28,0, ¥25,0
5 1 76 22 0 12322 = X28,1, ¥25,1
6 0 2521 = X7+, 97+ 23 0 15401 = x30,0, ¥26,0
7 0 2101 = X11,0, P12,0 24 0 15402 = x30,1, ¥26,1
8 0 2102 = x11,1, P12,1 25 0 23101 = x31,0, P27,0
9 0 2311 = X12,0, ©13,0 26 0 23102 = X31,1, 27,1
10 0 2312 = 12,1, P13,1
11 0 3851 = X14.0, £14.0 2.G: 27 1 5x3
12 0 3852 = X14,1, P14,1 28 1 7x6
13 0 4621 = X15,05 P15,0 29 0 5601 = X36,05 $32,0
14 0 4629 = X15,15 P15,1 30 0 5602 = X36,1, ¥32,1
15 0 6931 = X21,05 ¥21,0 31 0 12323 = X37+5 P33+
16 0 6932 = X211, ¥21.1 32 0 6721 = X39,0, ¥35,0
17 0 924, = X23,05 $23,0 33 0 6729 = X39,1, ¥35,1
34 0 24641 = Xa3+, Pa1+
Block 1: | 10 961 ®90 %110 ¥161 $20,1
11 =x1,0 1 . vro = hi
120, = Xo.1 1 po1 = 12
132 =xo0| 1 . 1 voo = I3h
3301 = X13,0 . 1 1 P10 = 1991
5945 = X171 1 : . Y1 = 474
8262 = Xoz.1 1 1w = 020
11002 = X26,1 1
Block 2: | p11 960 $o1 $111 P160 $200
lo = x11 1 . pr1o= L
1201 = 6. S poo = 120
1 X6,0
132 = o | 1 1 . vo1 = 131,
3305 = X13.1 o1 1 P = 199
5941 = X17,0 1 . . 16,0 = 4741
8251 = X22.0 1 1 p20,0 = 6261
11001 = X26,0 1




Block 3:

©Y2,0 P4,1  $10,0

©17,0

©18,1

©22,0

101 = x2,0
455 = X4.1
1651 = x10,0
5502 = X16,1
9902 = x24,1
9903 = X25,0
13201 = x29,0

1

Block 4:

©2.1 P40 P10,1

©Y17,1

¥18,0

©221

102 = x2.1
451 = x40
1652 = x10,1
5501 = X16,0
9901 = x24,0
9904 = X251
13202 = X291

1

Block 5:

P30 ©31 ©50

12

5,

1

$19,0

$19,1

441 = x3,0
442 = X371
1101 = x5,0
1102 = x5.1
11881 = x18+
6601 = X20,0
6602 = Xx20,1

1

Block 27:

P28+ P36+ P38+

321 = x32+
17601 = x40+
14401 = x45.0
14402 = X451
31682 = xas+

1

Y28+
P36+
P38+

©2.0
4,1
¥10,0
©17,0
©18,1
©22.0

¥2.1
©4,0
¥10,1
©17,1
$18,0
©22.1

¥3,0
®3,1
¥5.0
©5,1
©19,0
¥19,1

1408,
= 1760,

104
459
155¢
4851
5052
8351

10
45,
1552
485,
5054
8352

44,
444
661
662
594,
594,



Block 28: | ¢300 ®30,1 ¥31,0 ¥311 100 P40,

1441 = x340 1 .

1445 = X341 1 .

9281 = X35,0 1 .

5282 = X35,1 . 1 .
12001 = X42,0 . 1 1 .
12002 = X42,1 1 . . . 1
31681 = X46+ 1 1 1 1

¥30,0
¥30,1
¥31,0
¥31,1
$40,0
©40,1

144,
144,
928,
928,
10564
10564



